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n000000 | : | 0rn00DO00OO (vector) D000-,00000000000 O
Tn
00000000 (vector space) D0O0OR"O0000R*00(0)000000000 OO0
0000000000000,0000000000000000000000 (21,-.+,2,)"
D00D0000000000000000000,0000000 & = (z1,...,2,)" O

y=(y1,--.,9,) 000000000000 0000000000020 y000 (inner
product) 00000 (x,y) 00000 (x|y)02Ty000000000000000000
00000000000000000000000000000000000000000
0000000000000000000000000000000000000EOOO
00000000000000000000000000000000000

n
(T, y) = 2191+ + Ty (z Z%%)
i=1

0000 «00000(z,zy >000000000 (z,z)=0<x=0
0000 z,y,z00000O(x+y,2) = (x,2)+ (y,2)

0000 z,y 0 « 00000 (ax,y) = a(x,y)

0000 2,y 00000 (z,y) = (y,z) 000000000000

0000r0000000 20000020000 ||lo) = (@, o) (000022 + - + 22)
0000000000000 0000000000000000000000000000
0000000000000000000000000000
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obob0ob Xooooooooooo z,ye XOOOOO
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gboogoobooboobboobuooboobboobooobooboobboobd
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o000 ROOODOUODOO [-m,n0000O0O0OO0ODODOOOO C[—m,w OO
OO0f,g € Cl-mx 000000000 (f+g)(t) == f(t) +g(t) 0DO0DDO
00 (af)(t) == af(t) 000000 Cl-n,7 0000000000000000
f,geCl-m,n] 0000

(9= [ Foat

000ooo0o(f,¢g)0 fO0g0O OO0 ODOOUOOC[-n,n00000OOOOO

11 Ooooobggood

gbooobobooboobboobooboboobbooboobboobooobboon
gboogoobooboobboobuooboobboobooobooboobbooobd
gbooooobooboobboobuooboobbooboooboobooboboobd
bobooobooboobboobooooboboobooboooon

gooooooobobod ar,ae,...,a, OO0 O0O00O0DOOO0O0DOOOO0OO
goood

000000 (a,a) #0000 (aj,a;)=0(i#j)00000a,ag,...,a, 0000000
0000000000

gboogobobooboobboobooboobbooboobobooboobooboon
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bbbl w=1,2,...,n0n00000000O0O0OODOOOOO

uboooobooboonooboobobn
ugbooooobooooboobooabn

0000000000000 k=1,...,n |OHUH TEE Doo
00000 =ak(t) O (w) | (T =2m/w) |
w=1 T =2 x1(t) = sint
(g, ) #0 w= T=mn xo(t) = sin 2t
w=3 T:%” x3(t) = sin 3t
oo . . .
(g, xm) =0 (k#m) w=n T=2 |z, =sinnt

ugbogobogboaaboo
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